

CHANDRAKANTI RAMAVATI DEVI ARYA MAHILA P.G. COLLEGE

चन्द्रकान्ति रमावती देवी आर्य महिला पी.जी. कालेज

(Accredited by NAAC)

दीवान बाजार, गोरखपुर (उत्तर प्रदेश)

BILLS

A	REG. ADD.:- 129, MIRZAPUR MAHUI, SUDHARPUR GORAKHPUR, U.P273016 OFF ADD.:- PHASE 1, 2ND FLOOR,, SHAHI MARKET, GORAKHPUR, U.P273001 Tel.:+918808043685 email: vedsystron@gmail.com										
	Invoice No. : 2 Dated : 05-04-20	022			Place of Supply : Uttar Pradesh (09) Reverse Charge : N						
	Billed to : CHANDRAKANTI RAMAWATI DEVI COLLEGE GORAKHPUR				Shipped to : CHANDRAKANTI RAMAWATI DEVI COLLEGE GORAKHPUR						
	GSTIN / UIN :	Name of the last o			GSTIN / UIN	:		Section 1			
	S.N. Description of Goods	HSN/SAC Code	Qty.	Unit	Price	Rate	Amount	SGST	SGST Amount	Amount(*)	
.0	1. HEKVISSON 7A04HGHI-F1 ECO 2. HIKVISSON DS-2CESADOT-IRP 2MP DO 3. HIKVISSON DS-2CE1ADOT-IRP ECO 2M 4. SECURENET BNC CONNECTORR 5. SECURENET DC PIN 6. WESTERN DIGITAL 1TB HDD AV PURP 7. SECURENET POWER SUPPLY S-MPSON 8. SERVICE CHARGE 9. D-LINK CAT 6 CABLE NCB-CSUGRI 10. HDMI CABLE 1.5	8525 8529 8536 84717020 85044021 8509	1.00 2.00 10.00 5.00 1.00 1.00 5.00 30.00	Pcs. Pcs. Pcs. Pcs. Pcs. Pcs. Pcs. Pcs.	12.71 2,923.72 466.10 423.73 25.42	9.00 % 9.00 % 9.00 % 9.00 %	228.81 244.07 22.88 5.72 263.14 41.95 190.68 68.64	9.00 % 9.00 % 9.00 % 9.00 % 9.00 % 9.00 % 9.00 % 9.00 %	228.81 228.81 244.07 22.88 5.72 263.14 41.95 190.68 68.64 12.20	3,000.00 3,000.00 3,200.00 300.06 75.00 3,450.00 550.00 2,500.00 900.00	
	PAID & CANC	ELLED			व्योक्तत किया	#o	17	/ 35	1-		
Grand Total 58.00 Units प्रांताचा विकास प्रांताचा विकास प्रांताचा विकास विक							वेची आर्थ महिश्राण, 135.00				
Rupees Seventeen Thousand One Hundred Thirty Five Only Bank Details: NAME:- SYSTRON COMPUTER AC. NO. 50409463431, IFSC:- IDIB000G612								1			
ES					r's Signature :				m207		
2. In is not 3. Sub	nterest © 18% p.a. will be charged if the t made with in the stipulated time. bject to 'Gorakhpur' Jurisdiction only,	e payment				1	For	SYST	wel "	CONCOMPUTER CONCOMPUTER CONCOMPUTER AND TO THE PROPERTY OF THE	
(pe could be come only to be come only. The could be come only to be come only.	222	1	(7)			प्रातार्था नित रमावती वैयी	सर्व पहिला	Angelo la		
	6.0			- 3		चन्द्रका र्प	न्ति रमावता वया ० ० जी० कालेज,गो	खपुर	- 6	7	



CHANDRAKANTI RAMAVATI DEVI ARYA MAHILA P.G. COLLEGE

चन्द्रकान्ति रमावती देवी आर्य महिला पी.जी. कालेज

(Accredited by NAAC)

दीवान बाजार, गोरखपुर (उत्तर प्रदेश)

Cash memo bill for sales & services.

No.:41



मेहनत हमारा भरोसे का प्रतिक

आल टाइप कंप्यूटर एंड प्रिंटर नेटवर्किंग सर्वर पीसी नेटवर्किंग& CCTV कैमरा\$ ETC ADDRESS. 87, KHURUHARI KANHAULI CHAURI-CHAURA GORAKHPUR UTTER PRADESH

MOB.: 7652022174 EMAIL.ID AKPANDEY1996 MINI @GMAIL.COM

 Hp printer 1005 teflon perser rolar Gair set \$ services.charges

2. Desktop computer set cpu

3. Services charges

(01) 1850/- =1850.00

(01) 7800/-

=7800.00

(01) 150/-

=150.00

PAID & CANCELLED

Total = 9800.00

In words= Nine thousand eight hundred only-

प्रातार्या प्रातार्या इन्द्रकान्ति रमावती देवी आर्थ पहिला पीठ जीठ कालेज,गोरखपुर



CHANDRAKANTI RAMAVATI DEVI ARYA MAHILA P.G. COLLEGE

चन्द्रकान्ति रमावती देवी आर्य महिला पी.जी. कालेज

(Accredited by NAAC)

दीवान बाजार, गोरखपुर (उत्तर प्रदेश)

A.kPandey (computer&peripheral)

Mohaddipur near Kanchan tower, City-Gorakhpur State, -(U. P) PIN :273001 Mail.id_akpandey1996mmm@gmail.com M.NO.7652022174

PARTY'S NAME: -Chandrakanti ramavati mahila pg. college Gorakhpur

CITY-Gorakhpur State-(U.P)PIN ..273001

● N	SSD for Deskription SSD for Deskription	Qty	Rate	Amount
1.	SSD for pesheop computer 128 Gb silicon power	(04)	1570/-	6280.00
2.	PACIFICATION OF THE PROPERTY OF THE PACIFIC AND PACIFI	(02)	3300/-	6600.00
3.	Desktop ram DDR 3 4 GB	(02)	700/-	1400.00
4.	I3 3TH Generation processor (1 year warranty)	(02)	1150/-	2300.00
5.	CPU i3 Fan	(01)	250/-	250.00
6.	S.M.P.S For motherboard	(01)	580/-	580.00
7.	Desktop computer formatting & installation	(07)	250/-	1750.00
8.	Services charges	(01)	300/-	300.00
	Services charges	Grand Fotal		19500.00

Thank you for your business!

Total Amount (₹ - In Words):Nineteen thousand five hundred only/-

For:

Business Atul kumarpandey

Good the 000294

वा बाबो

प्राचार्या चन्द्रकान्ति रमावती देवी आर्थ महिला पी० जी० कालेज,गोरखपुर



CHANDRAKANTI RAMAVATI DEVI ARYA MAHILA P.G. COLLEGE चन्द्रकान्ति रमावती देवी आर्य महिला पी.जी. कालेज

(Accredited by NAAC)

दीवान बाजार, गोरखपुर (उत्तर प्रदेश)

The Principal Chandrakanti Ramavati Devi Arya Mahila P.G College Dewan Bazar, Gorakhpur, Uttar Pradesh, India Subject: Bill Regarding Filling of form regarding NCTE-PAR								
•		lespected Madam,						
111	Sno	Head						
	1	Filling		Amount				
SEL	2	NCTE Processing Fee		45000				
				15000				
		PAID & CA	NCELLED Total	60,000				
DI Ac Na	hanking yo harmendu i ccount De	Rai	ecived soool soool soool	अविकत विका सक्ता				
Ban IFSC	k:	ICICI Bank ICIC0001919		Rise				